Abschlusstabellen 2006 - 2007

Nachwuchsmannschaften

A-Jugend

1 TSV Schwabbruck 14 11 1 2 33:14 +19 34
2 SV Hohenfurch 14 10 0 4 50:23 +27 30
3 SV Fuchstal 14 9 1 4 57:27 +30 28
4 VfL Denklingen 14 8 38 3 37:24 +13 27
5 TSV Steingaden 14 4 4 6 27:27 +0 16
6 SV Schwabsoien 14 3 3 8 29:42 -13 12
7 SV Erpfting e.V. 14 2 3 9 16:51 -35 )
8 (SG) TSV Ingenried/Burggen 14 1 1 12 21:62  -41 4

D-Jugend

1 SV Hohenfurch 14 12 0 2 83:19 +64 36
2 SV Schwabsoien 14 12 0 2 89:35 +54 36
3 SV Unterdiessen 14 8 1 5 84:60 +24 25
4 SV Fuchstal 14 7 0 7 54:39 +15 21
5 SV Prem 14 5 2 7 32:58 -26 17
6 FC Stoffen 14 3 2 9 34:69 -35 11
7 SV Reichling 14 2 3 9 39:65 -26 9
8 SV Wildsteig 14 2 2 10 33:103 -70 8

Herzlichen Gliickwunsch zur Meisterschaft
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TSV Peissenberg 2
TSV Schongau 2

TSV Peiting 2
FC Issing 2
TSV Peiting 3

TSV HohenpeiBbg. 2
TSV Bernbeuren 2
SV Hohenfurch 2
SV Fuchstal 2

SV Wildsteig 2
TSV Steingaden 2
SV Fuchstal 2
TSV Schongau 3
TSV Peiting 3
SV Hohenfurch 2
TSV Bernbeuren 3
FC Hofstetten 2

SV Fuchstal
TSV Altenstadt
SV Wildsteig
SV Schwabsoien
TSV Burggen
VfL Denklingen
SV Hohenfurch
SV Unterdiessen
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F1-Jugend
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C-Jugend
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TSV Schongau
SV Fuchstal
TSV Bernbeuren
FC Stoffen
TSV Altenstadt
SV Hohenfurch
SV Unterdiessen

SV Wildsteig

TSV Bernbeuren

SV Erpfting e.V.
(SG) TSV Burggen/TSV
Ingenried
(SG) TSV Schwabbruck/SV
Schwabsoien
SV Hohenfurch

(SG) SV Unterdiessen/FC
Seestall
SV Kinsau
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